1 2 3 13 6
; AfEesEsnl = BEEEEE | =] AfFFessng ; | |
:, — L ]
o m-UU E' |§| PNL PN4 PN7
fe) T 1U chassis Front Panel Rear Panel
EBEH = '[:j s 't:j mt LIGO LIGO LIGO
@ O mm D1700042-v1 D2500194-v1 D2500195-v1
e ®= mmm
< D Do 0
> = [m] [m] m ® e o o mim I:I e > ‘ ‘ ‘ ‘
1 - 1
—| | —— Eeym PN2 PN5 PN8
g 'I: e g PZT Driver Board PZT Driver Board PZT Driver Dewhitening Interface Board
o~ i e - o0 LIGO LIGO LIGO
— e | B | E— = '; I:l . — D1001203-v2 D1001203-v2 D2500196-v1
] =]
o =N Ca 2¥T E.']I - =29 Q
(@) & s, oo (@)) \ \ \ \
— |o o o PN3 PN6 PNO
D L] D Low Noise Power Module PZT Driver Interface Board 1SC Mixed Whitening/Dewhitening Board
LIGO LIGO LIGO
D0901846-v5 D1001204-v1 D2500135-v1
—
200000000 00000000e [ 1y °0o > S7 Cable Assembly S1 SMA cable H1 insulating bushing H5 ring terminal, 1/2"
000000000000 R00000 coco0 1 ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘
o m = D.u o ma o . LO S8 Cable Assembly Digi-Key H2 insulating bushing H6 ring terminal, 1/2"
S9 ImiEC" 7B ™ L ] ACX1582-ND \ | \ |
— Digi-Key S1A SHV bulkhead H3 insulating bushing Digi-Key
o M3DDA-1420K-ND li| A28279-ND
o S2A  SHV bulkhead ‘H4 insulating bushiTg ‘HY #6-32 3/8" fla‘t
87 g Pasternack Digi-Key H8 #6 standoff, 1/2"
PE44080 A24479-ND
ol T D Digi-Key
> - |= 36-2210-ND
1 H9 ring terminal, #6
o™ m sees S3 SMA cable Cl Cable AWG20 S11 Socket
S ‘:Q" 00 \ | \ | Digi-Key
~ e e S4 SMA cable Digi-Key Digi-Key A28269-ND
— o) 2413CSL005-ND WM2112-ND H10 #6-32 pan, locker, 1/4"
B Pasternack S9 Socket S11A  Straight Header
O |amms ® o0 - PE3515-18 \ \ PN10_Terminal turret
o 7 o F'ﬂm . S10 Socket Digi-Key
— . -, S5 SMA cable WM5225-ND Digi-Key
D S o e Digi-Key S11B Contact 36-1587-1-ND
ﬂ S6 SMA cable 281-2597-ND
= D S11C Contact
oo o Ve Pasternack
° PE3515-12 S11D Contact
Digi-Key
WM2321CT-ND
—
3
O
(o]
—
il [T} =
o
LO
a
i 1 Title . . . .
T 0] PZT Driver with Dewhitening
Size Number Revision
3 D2500193
Date: 6/30/2025 [ Sheetlof 2
File: C:\Users\..\PZT DewhiteDriverl.SchDoc | Drawn By: Daniel Sigg
1 ‘ 2 ‘ 3 13 ‘ 6




1 2 3 4 13 6
‘Hll Handle, 1.25" ‘El #4-40 3/16" flat ‘E23 #4-40 3/16" flat E45BNC lock washer ‘H17 insulating bushing H29 Heatsink E62  #6-321/4" flat H37 Hex spacer 0.25", #6-32
‘H12 Handle, 1.25" ‘EZ #4-40 3/16" flat ‘E24 #4-40 3/16" flat ‘E46 BNC nut ‘H18 insulating bushing H30 Heatsink E63  #6-321/4" flat H38 Hex spacer 0.25", #6-32
Digi-Key E3 #4-40 3/16" flat  E25  #4-40 3/16" flat E47BNC lock washer H19 insulating bushing Digi-Key E64  #6-321/4" flat H39 Hex spacer 0.25", #6-32
36-9106-ND I I I 294-1080-ND
‘H13 Ferrule ‘E4 #4-40 3/16" flat ‘E26 #4-40 3/16" flat ‘E48 BNC nut ‘HZO insulating bushing H31 #6-32 pan, locker, 1/4" H40 Hex s?acer 0.25", #6-32
‘H14 Ferrule ‘ES #4-40 3/16" flat ‘E27 #4-40 3/16" flat E49BNC lock washer ‘HZl insulating bushing H32 #6-32 pan, locker, 1/4" Digi-Key

36-1903A-ND
‘H15 Ferrule ‘EG #4-40 3/16" flat ‘E28 #4-40 3/16" flat ‘ESO BNC nut ‘H22 insulating bushing H33 #6-32 pan, locker, 1/4" H41 #6-32 pan, locker, 1/4"
H16 Ferrule E7 #4-40 3/16" flat E29  #4-403/16" flat E51BNC lock washer H23 insulating bushing H34 #6-32 pan, locker, 1/4" H42 #6-32 pan, locker, 1/4"
\ \ \ \
Digi-Key E8 #4-403/16"flat  E30  #4-403/16" flat E52 BNC nut H24 insulating bushing McMaster-Carr H43 #6-32 pan, locker, 1/4"
36-9121-ND I I I | 96909A444
M1 #6-32 1/4" flat E9 #4-40 3/16" flat E31  #4-403/16" flat E53BNC lock washer H25 insulating bushing PN11 PA91 H44 #6-32 pan, locker, 1/4"
\ | \ \ \ |
M2 #6-32 1/4" flat E10 #4-403/16"flat E32 #4-403/16" flat E54 BNC nut H26 insulating bushing PN12 PA91 McMaster-Carr
I I I I ] 96909A444
M3 #6-32 1/4" flat E11 #4-403/16"flat E33  #4-403/16" flat E55BNC lock washer H27 insulating bushing Mouser
I I I I ] 137-PA9L
M4 #6-32 1/4" flat E12 #4-403/16"flat E34 #4-403/16" flat ES56 BNC nut H28 insulating bushing PN13 Thermal pad
\ | \ \ \ |
M5 #6-32 1/4" flat E13 #4-403/16"flat E35 #4-403/16" flat E57BNC lock washer Digi-Key PN14 Thermal ?ad -
‘MG #6-32 1/4" fl | ‘El4 #4-40 3/16 fl‘ ‘E36 #4-40 3/16 fl‘ E58 BNC A244T9ND M PZT Drlver
a " flat - " flat - " flat nut ouser

| | | | 137.TWor Rear Panel Standoff
McMaster-Carr E15 #4-403/16"flat E37  #4-403/16" flat E59BNC lock washer H35 #6-32 pan, locker, 1/4"
91099A205 \ | |
M7 #6-32 3/8" flat E16  #4-403/16"flat E38  #4-403/16" flat Digi-Key H36 #6-32 pan, locker, 1/4"
\ | \ [ | A1129-ND |——p—| PN15  HVguard H45 Board support0.5"
M8 #6-323/8" flat E17 #4-403/16"flat E39 #4-403/16" flat E60 BNC nut E61  #6-321/4" flat |——Ep—|
\ \ \ \ \ | LIGO H46 Board support0.5"
M9 #6-323/8" flat E18 #4-403/16"flat E40 #4-403/16" flat Digi-Key McMaster-Carr D1001205-v1 l——gp—|
I I I A1128-ND 91099A205 E65 #4-40,1/4" nylon Digi-Key
M10  #6-323/8" flat E19 #4-403/16"flat E41 #4-403/16" flat RPC3214-ND
I | I I E66 #4-40,1/4" nylon H47 Thumb nut
McMaster-Carr E20 #4-403/16"flat E42  #4-403/16" flat U1l LED
91099A215 I I L 1 E67 #4-40,1/4" nylon H48 Thumb nut

E21 #4-403/16"flat E43  #4-403/16" flat DigiKe

\ \ 358_187{_ND E68 #4-40, 1/4" nylon Digi-Key

E22 #4-403/16"flat E44 #4-403/16" flat I:L| RPC8738-ND

\ | | Digi-Key

McMaster-Carr H542-ND
91771A111

Use the spacers in the rear of the PZT Driver boards to prevent it from touching the bottom.

Use the board support in the rear of the ISC dewhitening board to prevent it from touching the bottom.

Mount high voltage guard using stand-offs and nylon screws. A nylon washer is required under 3 stand-offs.
Wire up LED and connect to dedicated terminal block.

Cut SMA cable, adjust length and mount to SHV bulkhead.
Use ring terminal to connect SHV ground to chassis (use stand-off).

Title . . q g
Mount PA90/PA91/PA98 to front panel using thermal pad and pan screw. PZT Driver with Dewhitening
Mount heatsink to front panel using thermal grease and pan screws. Size Number Revision
B D2500193
Date: 6/30/2025 [ Sheet2of 2
File: C:\Users\..\PZT DewhiteDriver2.SchDoc | Drawn By: Daniel Sigg
1 ‘ 2 ‘ 3 4 13 ‘ 6




	Schematic Prints("All Documents",Logical)
	PZTDewhiteDriver1.SchDoc
	Components
	C1
	H1
	H2
	H3
	H4
	H5
	H6
	H7
	H8
	H9
	H10
	LOGO1
	PN1
	PN2
	PN3
	PN4
	PN5
	PN6
	PN7
	PN8
	PN9
	PN10
	S1
	S1A
	S2A
	S3
	S4
	S5
	S6
	S7
	S8
	S9
	S10
	S11
	S11A
	S11B
	S11C
	S11D


	PZTDewhiteDriver2.SchDoc
	Components
	E1
	E2
	E3
	E4
	E5
	E6
	E7
	E8
	E9
	E10
	E11
	E12
	E13
	E14
	E15
	E16
	E17
	E18
	E19
	E20
	E21
	E22
	E23
	E24
	E25
	E26
	E27
	E28
	E29
	E30
	E31
	E32
	E33
	E34
	E35
	E36
	E37
	E38
	E39
	E40
	E41
	E42
	E43
	E44
	E45
	E46
	E47
	E48
	E49
	E50
	E51
	E52
	E53
	E54
	E55
	E56
	E57
	E58
	E59
	E60
	E61
	E62
	E63
	E64
	E65
	E66
	E67
	E68
	H11
	H12
	H13
	H14
	H15
	H16
	H17
	H18
	H19
	H20
	H21
	H22
	H23
	H24
	H25
	H26
	H27
	H28
	H29
	H30
	H31
	H32
	H33
	H34
	H35
	H36
	H37
	H38
	H39
	H40
	H41
	H42
	H43
	H44
	H45
	H46
	H47
	H48
	LOGO2
	M1
	M2
	M3
	M4
	M5
	M6
	M7
	M8
	M9
	M10
	PN11
	PN12
	PN13
	PN14
	PN15
	U1




